
13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF13,30 m NGF

Rappel :
Cote de seuil = cote de référence + 20 cm

13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF13,45 m NGF

12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF12,85 m NGF

12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF12,40 m NGF

12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF12,55 m NGF

12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF12,70 m NGF

13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF13,10 m NGF

13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF13,00 m NGF
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